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Modeling chemical evolu1on  
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Mechanical feedback 

kine1c energy by SN‐driven winds  escape velocity 

conversion efficiency: 0.002  1051erg 

ve2 = G Mgas/rsize 

Eb = ½ G Mgas
2/rsize 

107 Msun  Rsize = 10 pc  Rsize = 32 pc  Rsize= 100 pc 

ve [km/s]  66  37  21 

Eb  [1051 erg]  433  134  43 

109 Msun  Rsize = 46 pc  Rsize = 147 pc  Rsize=  460 pc 

ve [km/s]  306  171  97 

Eb  [1051erg]  9.32d05  2.89d05  9.32d04 

dense: 105 cm‐3  compact: 3x103 cm‐3  diffuse: 102 cm‐3 

 Mass ejec1on rate:  



stellar life1mes and IMF 



metal yields 

Z=0  Z=Zsun 

metals 

oxygen 
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Woosley & Weaver (1995) 
Van den Hoek & Groenewegen (1997)   



metal yields 



dust yields 

Z=0  Z=Zsun 

dust 

carbon dust 
other dust 
silicates 

Bianchi & Schneider (2007) 
 Zhukovska et al. (2008)    



ini1al condi1ons 

(1) Spherical extragalac1c HII regions  

Ini1al available gas mass, Mgas = 107 Msun  

dense = 1e5 cm‐3 
compact = 3e3 cm‐3 
diffuse = 1e2 cm‐3 

(2) Ultra‐luminous‐like spherical scaled‐up extragalac1c HII regions:  

Ini1al available gas mass, Mgas = 109 Msun  

dense = 1e5 cm‐3 
compact = 3e3 cm‐3 
diffuse = 1e2 cm‐3 

SFR = eff * Mgas / tff with eff = 0.1 



star forma1on histories & SN rate 



Mass‐metallicity rela1on 
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Specific star forma1on rate 
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With reduced efficiency (0.05) 

compact 
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With reduced efficiency (0.02) 

compact 

dense 

diffuse 



New SFR prescrip1on 

Stars form out of molecular gas   SFR = ε fH2 Mgas/tff  ε = 0.01 

frac1on of molecular gas:  
depends on  physical condi1ons  

fH2  = fH2(Zmet, Σgas)  Krumholz, McKee & Tumlinson (2009) 

free‐fall 1me  within the 
molecular cloud 

Ini1al Condi1ons 

Mgas= 109, 1011 Msun 

THI  = 20, 25, 30 K 

nHI= 1, 10 cm‐3 

nH2= 103, 5 104, 106 cm‐3 

surface density of the atomic/molecular complex 

        Σgas =  ΣH2 + ΣHI   

ΣH2 = Ncl Σcl    

Ncl= MH2/Mcl  

Mcl= Mjeans(nHI,THI) = 1660 Msun (THI/25K)3/2 nHI‐1/2  

Σcl = 85 Msun/pc2 



star forma1on histories (no infall) 

 nH2= 106cm‐3 

nH2= 5 104cm‐3 

nH2= 103cm‐3 

Mgas,ini = 109 Msun 

SFR = ε fH2 Mgas/tff 

SFR depends on nHI only through the strength of SN feedback (fix Eb and vesc) 

 nHI= 10 cm‐3 

 nHI= 1 cm‐3 



star forma1on histories (no infall) 

 nH2= 106cm‐3 

nH2= 5 104cm‐3 

nH2= 103cm‐3 

Mgas,ini = 1011 Msun 

SFR = ε fH2 Mgas/tff 

 ngas= 10 cm‐3 

 ngas= 1 cm‐3 



Problem: aoer 1 step fH2=1  

Σgas = ΣH2 + ΣHI  ΣH2 = Ncl Σcl    

Ncl= MH2/Mcl  

MH2 = fh2(Σgas,Zgas)    

Mcl= Mjeans(nHI,THI) = 1660 Msun (THI/25K)3/2 nHI‐1/2  

nHI = 10 cm‐3 

nHI = 1 cm‐3 

THI= 30, 25, 20 K 



fH2(Σgas,Z)  Krumholz, McKee, Tumlinson 2009 

@ tini, MH2=0 and Σgas = ΣHI  fH2 ≈ 10‐4          @ tini + Δt, MH2≈ 105 Msun and Ncl >> 1 
Σgas = ΣH2>>102 Msun/pc2      fH2 ≈ 1 thereaoer         



2 problems 
1.  we are giving the system all the row material at the first step  we have to 

 re‐introduce the infall term (easy!) 

2.  we are compu1ng fH2 using the total  gas column density; KMT09 say that fH2 depends 

          on the column density of the atomic/molecular complex averaged over 100 pc 

   Σcompl = c Σgas  with c = clumping factor (> 1 for r > 100 pc, ≈ 1 for r 100 pc) 

   Σcl = 85 Msun/pc2   if Σgas < 85 Msun/pc2  

   Σcl = Σgas if Σgas >  85 Msun/pc2   

What is the typical “size” of a molecular cloud?  Rcl ≈ Σcl/(2 mH nH2) 

nH2 [cm‐3]  103  5 104  106 

Rcl [pc]  1.7  3.4 10‐2  1.7 10‐3 

and the “size” of the HI region? RHI = {3 MHI/4 πρHI}1/3    
Mgas,ini = 109 Msun  nHI = 1/10  [cm‐3]  Mgas,ini = 1011 Msun  nHI = 1/10  [cm‐3] 

RHI [kpc]  1.99/0.93  RHI [kpc]  9.3/4.3 



Re‐introducing the Infall term 
tinf = tff/4 
A = Mgas,in/2 tinf 

Keres et al. (2005); Salvadori et al. (2009) 

Infall‐1me depends on the adopted HI density: nHI = 1/10 cm‐3  tinf = 12.8/4.1 Myr   

Same problem: transi1on is only delayed 

nHI = 10 cm‐3 

nHI = 1 cm‐3 

10 cm‐3  1 cm‐3 



Changing from fH2(Σgas) to fH2(Σcomp) 
Σcomp = ΣHI   when Ncl = 0 

Σcomp = max(ΣHI, Σcl) when Ncl ≥ 1 

nHI = 10 cm‐3 

nHI = 1 cm‐3 

nHI = 10 cm‐3 

nHI = 1 cm‐3 

increase in Zmet 



Changing from fH2(Σgas) to fH2(Σcomp) 
Σcomp = ΣHI   when Ncl = 0 

Σcomp = max(ΣHI, Σcl) when Ncl ≥ 1 

nHI = 10 cm‐3 

nHI = 1 cm‐3 

nHI = 10 cm‐3 

nHI = 1 cm‐3 



How is the SFR affected? 

nHI = 10 cm‐3 

nHI = 1 cm‐3 

nHI = 10 cm‐3 

nHI = 1 cm‐3 

nH2 = 106 cm‐3 

nH2 = 5 104 cm‐3 

nH2 = 103 cm‐3 

The star forma1on histories are very sensi1ve to Mgas and nHI  



1me evolu1on: Mgas, Mstar, MH2 

nH2 = 103 cm‐3 
nH2 = 103 cm‐3 

nHI = 1 cm‐3 nHI = 10 cm‐3 
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1me evolu1on: Mgas, Mstar, MH2 

nH2 = 103 cm‐3 
nH2 = 103 cm‐3 

nHI = 1 cm‐3 nHI = 10 cm‐3 
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1me evolu1on: Mmet 

nH2 = 103 cm‐3 
nH2 = 103 cm‐3 

nHI = 1 cm‐3 nHI = 10 cm‐3 
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1me evolu1on: Mmet 

nH2 = 103 cm‐3 
nH2 = 103 cm‐3 

nHI = 1 cm‐3 nHI = 10 cm‐3 
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Metallicity evolu1on 

nHI = 1 cm‐3 nHI = 10 cm‐3 

[O/H] 

[C/H] 

nH2 = 106 cm‐3 

5x104 cm‐3 

103 cm‐3 

nH2 = 106 cm‐3 
5 104 cm‐3 

103 cm‐3 



Metallicity evolu1on 

nHI = 1 cm‐3 nHI = 10 cm‐3 

[O/H] 

[C/H] 

nH2 = 106 cm‐3 

5x104 cm‐3 

103 cm‐3 

nH2 = 106 cm‐3  5 104 cm‐3 

103 cm‐3 



Molecule evolu1on 
nHI = 10 cm‐3  nHI = 1 cm‐3 

nH2 = 106 cm‐3 

5x104 cm‐3 

103 cm‐3 



Mass‐metallicity rela1on 

nHI = 1 cm‐3 

nHI = 10 cm‐3 



Mass‐metallicity rela1on  

nHI = 1 cm‐3 

nHI = 10 cm‐3 

Old Model New Model 



Specific star forma1on rate 
Old Model New Model 



Specific star forma1on rate 



conclusions 
•     chemical evolu1on model is ok 

•     s1ll need to work on the SFR prescrip1on: are we compu1ng fH2 in the  
     right way?  

•    are we comparing the models and data in the right way? 



Notes for brain‐storming 
   are we comparing the models and data in the right way? 

snapshots 

snapshots = galaxies selected on the basis of specific proper1es (ex. SFRs)  

 Run a grid of models (Mgas,in, nHI, nH2) and select them in terms of SFRs to populate the plane 



To do list 
(1) Rileggere bene il paper originale di McKee per capire bene se s1amo considerando 
la Sigma giusta 

(2) Capire cosa conviene fare: evolvere il gas a volume density costante o a raggio costante? 
Cambia la dipendenza dal tempo della Sigma. Infa�: 

Sigma ≅ Mgas(t)^(1/3) se nH=cost 
Sigma = Mgas(t) se RH=cost 

(3) Intensificare la griglia di modelli per Sigma (eventualmente nH2) 

(4) Considerare un infall di gas alla metallicita’ Zmin = 5x10^{‐2} Zsun e provare ad  
abbassare la soglia 

(5) Selezionare i da1 (rivis1 da Leslie per essere sicuri che ci sia consistenza) in funzione  
della SFR,th e fare la stessa cosa per I da1 teorici 

(6) Cercare di capire le correlazioni osservate (mass‐metallicity), (ssfr vs mstar) per poi  
“calibrare” la Schmidt‐Kennicu� law (alpha_CO/X‐factor)    


